A 4

Ll

Stopsel 30x2

+600mm
250mm—t

o

Gewindeschneidschraube M6x35

Gewindeschneidschraube M6x35 —\

Halsschraube M6x35

Unterlegscheibe 6,4

Mutter M6

Schraube 6HR M8x20
Unterlegscheibe 8,4
Mutter M8

Stopsel 30x2

Postup sestaveni
Postup zostavovania
Procedura budowania
Montageanleitung

(1,2,3,4,5)

Kleiderhaken ¢ 1

Schrauben 3x16

Bankgestell
Fichtenbretter
Schraube 6HR M8x20
Unterlegscheibe 8,4
Mutter M8
Halsschraube M6x35
Unterlegscheibe 6,4
Mutter M6
Kleiderhaken
Schraube 3x16
Stopsel 30x2
Gewindeschneidschraube M6x35

3x
5x
4x
4x
4x
12x
12x
12x
4x
8x
6x
4x



